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(vi) This question paper comprises of five sections - A, B, C, D and E.  All questions are
compulsory.

¬˝‡Ÿ-¬òÊ ∑§Ê ¬Ê°ø πá«UÊ¥ ◊¥ Áfl÷ÊÁ¡Ã Á∑§ÿÊ ªÿÊ „Ò - ∑§, π, ª, ÉÊ ∞fl¥  æ§–  ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–

(vii) Section - A Question No. 1 to 12 are Multiple choice questions, carrying 1 mark each.

πá« - ∑§ ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 12 Ã∑§ ’„ÈÁfl∑§À¬Ëÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 1 •¥∑§ ∑§Ê „Ò–

(viii) Section - B Question No. 13 to 18 are short answer type questions, carrying 2 marks each.
Answer to these questions should not exceed 50 to 60 words.

πá« - π ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 13 ‚ 18 Ã∑§ ‹ÉÊÍûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 2 •¥∑§ ∑§Ê „Ò–  ¬˝àÿ∑§ ¬˝‡Ÿ
∑§Ê ©ûÊ⁄U 50 fl 60 ‡ÊéŒÊ¥ ‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(ix) Section - C Question No. 19 to 23 are Long answer (type-I) questions, carrying 4 marks
each.  Answer to these questions should not exceed 100 to 120 words.

πá« - ª ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 19 ‚ 23 Ã∑§ ŒËÉÊ¸©ûÊ⁄UËÿ (¬˝∑§Ê⁄U -I)¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 4 •¥∑§ ∑§Ê „Ò–
¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U 100 fl  120 ‡ÊéŒÊ¥ ‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(x) Section - D Question No. 24 to 26 are passage, Cartoon, Map Based type questions, Answer
each question accordingly.

πá«U  - ÉÊ ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ  24 ‚ 26 Ã∑§ ªlÊ¥‡Ê, ∑§Ê≈Í¸UŸ, ◊ÊŸÁøòÊ •ÊœÊÁ⁄UÃ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ
∑§Ê ©ûÊ⁄U ÃŒŸÈ‚Ê⁄U Œ¥–

(xi) Section - E Question No. 27 to 30 are Long answer (Type II), carrying 6 marks each.  Answer
to these questions should not exceed 170 to 180 words.

πá« - æ§ ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 27 ‚ 30 Ã∑§ ŒËÉÊ¸©ûÊ⁄UËÿ (¬˝∑§Ê⁄U-II) ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 6•¥∑§ ∑§Ê
„Ò – ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U 170 fl 180 ‡ÊéŒÊ¥ ‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(xii) Answer should be in brief and to the point. Also, the above word limit should be adhered to, as
far as possible.

©ûÊ⁄U ‚¥ÁˇÊåàÊ ÃÕÊ Á’¥ŒÈflÊ⁄U „ÊŸÊ øÊÁ„∞ •ÊÒ⁄U ‚ÊÕ „Ë ©¬⁄UÊÄàÊ ‡ÊéŒ-‚Ë◊Ê ∑§Ê ÿÕÊ‚¥÷fl ¬Ê‹Ÿ ∑§ËÁ¡∞–

(xiii) There is no overall choice in the question paper.  However, an internal choice has been provided
in some questions.  Only one of the choices in such questions have to be attempted.

¬˝‡Ÿ-¬òÊ ◊¥ ‚◊ª˝ M§¬ ‚ ∑§Êß¸ Áfl∑§À¬ Ÿ„Ë¥ „Ò–  ÃÕÊÁ¬ ∑È§¿U ¬˝‡ŸÊ¥ ◊¥ •Ê¥ÃÁ⁄U∑§ Áfl∑§À¬ ÁŒ∞ ª∞ „Ò¥–  ∞‚ ¬˝‡ŸÊ¥
◊¥ ∑§fl‹ ∞∑§ „Ë Áfl∑§À¬ ∑§Ê ©ûÊ⁄U Á‹Áπ∞–

(xiv) In addition to this, separate instructions are given with each section and question, wherever
necessary.

ß‚∑§ •ÁÃÁ⁄UÄàÊ, •Êfl‡ÿ∑§ÃÊŸÈ‚Ê⁄U, ¬˝àÿ∑§ π¥«U •ÊÒ⁄U ¬˝‡Ÿ ∑§ ‚ÊÕ ÿÕÊÁøÃ ÁŸŒ¸‡Ê ÁŒ∞ ª∞ „Ò¥–
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SECTION - A / πá«U - ∑§

MULTIPLE CHOICE QUESTIONS / ’„È Áfl∑§À¬Ëÿ ¬˝‡Ÿ

1. Who among the following emerged as a national hero in opposing the coup in the

Soviet Union in 1991 ?

(a) Boris Yeltsin (b) Gorbachev

(c) Nikita Khrushchev (d) Joseph Stalin

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ 1991 ◊¥ ‚ÊÁflÿÃ ‚¥ÉÊ ◊¥ „È∞ ÃÅÃÊ¬‹≈U ∑§ Áfl⁄UÊœ ◊¥ ⁄UÊc≈˛UËÿ ŸÊÿ∑§ ∑§ M§¬
◊¥ ©÷⁄UÊ?

(a) ’ÊÁ⁄U‚ ÿÀÃÁ‚Ÿ (b) ªÊ’Ê¸øfl

(c) ÁŸÁ∑§ÃÊ ∫È‡øfl (d) ¡Ê‚»§ S≈UÊÁ‹Ÿ

2. Arrange the following in chronological order : 1

(i) End of the Second World War

(ii) Disintegration of the USSR

(iii) Fall of the Berlin Wall

(iv) Indo-Russian Strategic Agreement

Choose the correct option :

(a) (i), (ii), (iii) and (iv) (b) (ii), (iv), (i) and (iii)

(c) (i), (iii), (ii) and (iv) (d) (i), (iv), (iii) and (ii)

ÁŸêŸÁ‹ÁπÃ ∑§Ê ∑˝§◊ÊŸÈ‚Ê⁄U Á‹Áπ∞ —

(i) ÁmÃËÿ Áfl‡flÿÈh ∑§Ë ‚◊ÊÁ#

(ii) ‚ÊÁflÿÃ ‚¥ÉÊ ∑§Ê ÁflÉÊ≈UŸ

(iii) ’Á‹¸Ÿ ŒËflÊ⁄U ∑§Ê Áª⁄UŸÊ

(iv) ÷Ê⁄UÃ-M§‚ ⁄UáÊŸËÁÃ∑§ ‚◊¤ÊÊÒÃÊ

‚„Ë Áfl∑§À¬ øÈÁŸ∞ —

(a) (i), (ii), (iii) •ÊÒ⁄U (iv) (b) (ii), (iv), (i) •ÊÒ⁄U (iii)

(c) (i), (iii), (ii) •ÊÒ⁄U (iv) (d) (i), (iv), (iii) •ÊÒ⁄U (ii)

1
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3. __________ refers to political violence that targets civilians deliberately and
indiscriminately.

(a) Human Security (b) Global Security

(c) Terrorism (d) Internal Wars

                ŸÊªÁ⁄U∑§Ê¥ ∑§Ê ¡ÊŸ’Í¤Ê∑§⁄U •ÊÒ⁄U Á’ŸÊ ÷Œ÷Êfl ∑§ ⁄UÊ¡ŸËÁÃ∑§ Á„¥‚Ê ∑§Ê ‹ˇÿ ’ŸÊŸ ∑§Ë
∑§Ê⁄¸UflÊß¸ „Ò–

(a) ◊ÊŸfl ‚È⁄UˇÊÊ (b) flÒÁ‡fl∑§ ‚È⁄UˇÊÊ

(c) •ÊÃ¥∑§flÊŒ (d) •Ê¥ÃÁ⁄U∑§ ÿÈh

4. Assertion (A) : WHO deals with the international problems related to the
health.

Reason (R) : Amnesty International is an NGO.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(c) (A) is true, but (R) is false.

(d) (A) is false, but (R) is true.

∑§ÕŸ (A) : «UéÀÿÍ.∞ø.•Ê. SflÊSâÿ ‚¥’¥œË •¥Ã⁄UÊ¸c≈˛UËÿ ‚◊SÿÊ•Ê¥ ∑§Ê ¬˝’¥ÁœÃ ∑§⁄UÃÊ „Ò–

∑§Ê⁄UáÊ (R) : ∞◊ŸS≈UË ß¥≈U⁄UŸ‡ÊŸ‹ ∞∑§ ∞Ÿ.¡Ë.•Ê. „Ò–

(a) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚„Ë „¥Ò ÃÕÊ (R), (A) ∑§Ë ‚„Ë √ÿÊÅÿÊ „Ò–

(b) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚„Ë „¥Ò ¬⁄¥UÃÈ (R), (A) ∑§Ë ‚„Ë √ÿÊÅÿÊ Ÿ„Ë¥ „Ò–

(c) (A) ‚„Ë „Ò, Á∑¥§ÃÈ (R) ª‹Ã „Ò–

(d) (A) ª‹Ã „Ò, Á∑¥§ÃÈ (R) ‚„Ë „Ò–

5. Expand UNFCCC : 1

(a) United Nations Fast Convention on Climate Change
(b) United Nations Framework Convention on Climate Call

(c) United Nations Framework Counters on Climate Change

(d) United Nations Framework Convention on Climate Change

ÿÍ.∞Ÿ.∞»§.‚Ë.‚Ë.‚Ë. ∑§Ê ÁflSÃÎÃ M§¬ Á‹Áπ∞ —

(a) ÿÍŸÊß≈U«U Ÿ‡Êã‚ »§ÊS≈U ∑¥§fl¥‡ÊŸ •ÊÚŸ Ä‹Êß◊≈U ø¥¡

(b) ÿÍŸÊß≈U«U Ÿ‡Êã‚ »˝§◊fl∑¸§U ∑¥§fl¥‡ÊŸ •ÊÚŸ Ä‹Êß◊≈U ∑§ÊÚ‹

(c) ÿÍŸÊß≈U«U Ÿ‡Êã‚ »˝§◊fl∑¸§ ∑§Ê©¥≈‚¸ •ÊÚŸ Ä‹Êß◊≈U ø¥¡

(d) ÿÍŸÊß≈U«U Ÿ‡Êã‚ »˝§◊fl∑¸§U ∑¥§fl¥‡ÊŸ •ÊÚŸ Ä‹Êß◊≈U ø¥¡

1

1
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6. Which of the following is NOT considered as a global commons ? 1

(a) Antarctica (b) Outer space

(c) Ocean Floor  (d) Forests

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê flÒÁ‡fl∑§ ‚Ê¤ÊË ‚¥¬ŒÊ ‚ ‚¥’¥ÁœÃ Ÿ„Ë¥ „Ò?

(a) •¥≈UÊ∑¸§Á≈U∑§Ê (b) ’Ê„⁄UË •¥ÃÁ⁄UˇÊ

(c) ‚◊ÈŒ˝Ë ‚Ã„ (d) flŸ

7. Why did the leaders of India choose the more challenging path of democracy ? 1

(a) They were afraid of the results of non-democratic rule.

(b) India’s freedom struggle was deeply committed to the idea of democracy.

(c) They believed that democracy was the cheapest option.

(d) They were pressured by other countries to adopt a democratic rule.

÷Ê⁄UÃ ∑§ ŸÃÊ•Ê¥ Ÿ ‹Ê∑§Ã¥òÊ ∑§ •Áœ∑§ øÈŸÊÒÃË¬ÍáÊ¸ ◊Êª¸ ∑§Ê ÄÿÊ¥ øÈŸÊ?

(a) fl •‹Ê∑§ÃÊ¥ÁòÊ∑§ ‡ÊÊ‚Ÿ ∑§ ¬Á⁄UáÊÊ◊Ê¥ ‚ ÷ÿ÷ËÃ Õ–

(b) ÷Ê⁄UÃ ∑§ SflÃ¥òÊÃÊ ‚¥ª˝Ê◊ ∑§Ë ª„⁄UË ¬˝ÁÃ’hÃÊ ‹Ê∑§Ã¥òÊ ‚ ÕË–

(c) fl ‹Ê∑§Ã¥òÊ ∑§Ê ‚’‚ ‚SÃÊ Áfl∑§À¬ ◊ÊŸÃ Õ–

(d) ©Ÿ ¬⁄ •ãÿ Œ‡ÊÊ¥ ∑§ ‹Ê∑§ÃÊ¥ÁòÊ∑§ ‡ÊÊ‚Ÿ ∑§Ê •¬ŸÊŸ ∑§Ê Œ’Êfl ÕÊ–U

8. Which party won the most seats after the Congress in the initial Lok Sabha
election ?

(a) The Communist Party of India

(b) The Bhartiya Janata Party

(c) The Samajwadi Party

(d) The Nationalist Congress Party

¬˝Ê⁄¥UÁ÷∑§ ‹Ê∑§‚÷Ê øÈŸÊflÊ¥ ◊¥ ∑§Ê¥ª˝‚ ∑§ ’ÊŒ Á∑§‚ ¬Ê≈UË¸ Ÿ ‚’‚ •Áœ∑§ ‚Ë≈¥U ¡ËÃË¥?

(a) ÷Ê⁄UÃËÿ ‚ÊêÿflÊŒË Œ‹

(b) ÷Ê⁄UÃËÿ ¡ŸÃÊ ¬Ê≈UË¸

(c) ‚◊Ê¡flÊŒË ¬Ê≈UË¸

(d) ⁄UÊc≈˛UflÊŒË ∑§Ê¥ª˝‚ ¬Ê≈UË¸

1
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9. The Foreign Policy of independent India vigorously pursued the dream of a peaceful

world by advocating the policy of __________.

(a) Non-Alignment (b) No nuclear weapons

(c) Military expansion (d) Liberalisation

SflÃ¥òÊ ÷Ê⁄UÃ ∑§Ë ÁflŒ‡Ê ŸËÁÃ Ÿ ‡ÊÊ¥ÁÃ¬ÍáÊ¸ Áfl‡fl ∑§ ‚¬Ÿ ∑§Ê ©à‚Ê„¬Ífl¸∑§ ¬Í⁄UÊ ∑§⁄UŸ ∑§ Á‹∞  __________

∑§Ë ŸËÁÃ ∑§Ê ’…∏UÊflÊ ÁŒÿÊ–

(a) ªÈ≈U-ÁŸ⁄U¬ˇÊÃÊ (b) ¬⁄U◊ÊáÊÈ „ÁÕÿÊ⁄UÊ¥ ∑§Ê ÁŸ·œ

(c) ‚Òãÿ ÁflSÃÊ⁄U (d) ©ŒÊ⁄UË∑§⁄UáÊ

10. Which of the following country did not play any role in the Tashkent Agreement ?

(a) Egypt (b) USSR

(c) India (d) Pakistan

ÁŸêŸ ◊¥ ‚ ∑§ÊÒŸ ‚ Œ‡Ê ∑§Ë ÃÊ‡Ê∑¥§Œ ‚◊¤ÊÊÒÃ ◊¥ ∑§Êß¸ ÷ÍÁ◊∑§Ê Ÿ„Ë¥ ÕË?

(a) Á◊d (b) ‚ÊÁflÿÃ ‚¥ÉÊ

(c) ÷Ê⁄UÃ (d) ¬ÊÁ∑§SÃÊŸ

11. Assam movement expresses - 1

(a) Migration Issues (b) Regional Aspirations

(c) Regional Problems (d) Violent Acts

•‚◊ •Ê¥ŒÊ‹Ÿ •Á÷√ÿQ§ ∑§⁄UÃÊ „Ò -

(a) ¬˝flÊ‚Ë ◊Èg (b) ˇÊòÊËÿ •Ê∑§Ê¥ˇÊÊ∞°

(c) ˇÊòÊËÿ ‚◊SÿÊ∞° (d) Á„¥‚∑§ ∑§Êÿ¸¸

12. After the reorganisation of Punjab, the __________ came to power in 1967 and
then in 1977.

(a) Congress (b) Janata Party

(c) Akali Dal (d) Communist Party

¬¥¡Ê’ ∑§ ¬ÈŸª¸∆UŸ ∑§ ’ÊŒ, __________ 1967 ◊¥, Á»§⁄U 1977 ◊¥ ‡ÊÊ‚Ÿ ◊¥ •ÊÿË–

(a) ∑§Ê¥ª̋‚ (b) ¡ŸÃÊ ¬Ê≈UË¸

(c) •∑§Ê‹Ë Œ‹ (d) ‚ÊêÿflÊŒË Œ‹

1

1

1
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SECTION - B / πá«U - π

13. Highlight any two reasons for the ethnic conflict in Sri Lanka. 2

üÊË‹¥∑§Ê ◊¥ ¡ÊÃËÿ ‚¥ÉÊ·¸ ∑§ Á∑§ã„Ë¥ ŒÊ ∑§Ê⁄UáÊÊ¥ ¬⁄U ¬˝∑§Ê‡Ê «UÊÁ‹∞–

14. Examine any two new sources of threats faced by the world. 2

Áfl‡fl ∑§ Œ‡ÊÊ¥ mÊ⁄UÊ ‚Ê◊ŸÊ Á∑§∞ ¡ÊŸ flÊ‹ πÃ⁄U ∑§ Á∑§ã„Ë¥ ŒÊ Ÿ∞ dÊÃÊ¥ ∑§Ê ¬⁄UËˇÊáÊ ∑§ËÁ¡∞–

15. Describe the meaning of non-traditional notion of security. 2

‚È⁄UˇÊÊ ∑§Ë •¬Ê⁄¥U¬Á⁄U∑§ œÊ⁄UáÊÊ ∑§ •Õ¸ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

16. Analyse any two reasons for the dominance of the Congress Party in the first three
general elections.

¬˝Õ◊ ÃËŸ •Ê◊ øÈŸÊflÊ¥ ◊¥ ∑§Ê¥ª˝‚ ¬Ê≈UË¸ ∑§ ¬˝÷Èàfl ∑§ Á∑§ã„Ë¥ ŒÊ ∑§Ê⁄UáÊÊ¥ ∑§Ê Áfl‡‹·áÊ ∑§ËÁ¡∞–

17. How did the First Five Year Plan laid the foundation of future development of
India ?

¬˝Õ◊ ¬¥øfl·Ë¸ÿ ÿÊ¡ŸÊ Ÿ Á∑§‚ ¬˝∑§Ê⁄U ÷Ê⁄UÃ ∑§ ÷ÁflcÿÊã◊ÈπË Áfl∑§Ê‚ ∑§Ë ŸË¥fl ⁄UπË?

18. Mention any two reasons due to which Janata Party won the election of 1977. 2

1977 ∑§ øÈŸÊflÊ¥ ◊¥ ¡ŸÃÊ ¬Ê≈UË¸ ∑§Ë ¡ËÃ ∑§ Á∑§ã„Ë¥ ŒÊ ∑§Ê⁄UáÊÊ¥ ∑§Ê ’ÃÊß∞–

2

2



142-Political Science 8

SECTION - C / πá«U  - ª

19. What was Soviet System ? Assess any three features of Soviet System. 4

‚ÊÁflÿÃ √ÿflSÕÊ ÄÿÊ ÕË? ‚ÊÁflÿÃ √ÿflSÕÊ ∑§Ë Á∑§ã„Ë¥ ÃËŸ Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê ¬⁄UËˇÊáÊ ∑§ËÁ¡∞–

20. “Globalisation is the outcome of developed technology”. Support the statement
with two examples.

““flÒ‡flË∑§⁄UáÊ, Áfl∑§Á‚Ã Ã∑§ŸË∑§ ∑§Ê ¬Á⁄UáÊÊ◊ „Ò–”” ŒÊ ©ŒÊ„⁄UáÊÊ¥ ‚ ∑§ÕŸ ∑§Ê ‚◊Õ¸Ÿ ∑§ËÁ¡∞–

21. What is the meaning of defection in terms of Indian Politics ? Explicate any two
drawbacks of defection.

÷Ê⁄UÃËÿ ⁄UÊ¡ŸËÁÃ ∑§ ‚¥Œ÷¸ ◊¥ Œ‹-’Œ‹ ∑§Ê ÄÿÊ •Õ¸ „Ò? Œ‹-’Œ‹ ∑§Ë Á∑§ã„Ë¥ ŒÊ ∑§Á◊ÿÊ¥ ∑§Ë √ÿÊÅÿÊ
∑§ËÁ¡∞–

OR/ÿÊ

1960’s were labelled as the ‘dangerous decade’. Explain with the help of any four
arguments.

1960 ∑§ Œ‡Ê∑§ ∑§Ê ““πÃ⁄UŸÊ∑§ Œ‡Ê∑§”” ∑§Ë ‚¥ôÊÊ ŒË ¡ÊÃË „Ò– Á∑§ã„Ë¥ øÊ⁄U Ã∑§ÊZ mÊ⁄UÊ ß‚∑§Ë √ÿÊÅÿÊ
∑§ËÁ¡∞–

22. Why is the emergency and the period around it known as the period of
Constitutional Crisis ? Explain.

•Ê¬ÊÃ∑§Ê‹ •ÊÒ⁄U ß‚∑§ •Ê‚-¬Ê‚ ∑§Ë •flÁœ ∑§Ê ‚¥flÒœÊÁŸ∑§ ‚¥∑§≈U ∑§Ë •flÁœ ∑§ M§¬ ◊¥ ÄÿÊ¥ ¡ÊŸÊ ¡ÊÃÊ
„Ò? √ÿÊÅÿÊ ∑§ËÁ¡∞–

OR/ÿÊ

Justify any four outcomes of the mid-term elections of 1980 in India.

÷Ê⁄UÃ ◊¥ 1980 ∑§ ◊äÿÊflÁœ øÈŸÊflÊ¥ ∑§ Á∑§ã„Ë¥ øÊ⁄U ¬Á⁄UáÊÊ◊Ê¥ ∑§Ê •ÊÒÁøàÿ Á‚h ∑§ËÁ¡∞–

23. “All regional movements need not lead to the separatists demands”.  Explain the
statement by giving suitable examples.

““‚÷Ë ̌ ÊòÊËÿ •Ê¥ŒÊ‹Ÿ „◊‡ÊÊ •‹ªÊflflÊŒË ◊Ê¥ªÊ¥ ∑§Ë •Ê⁄U Ÿ„Ë¥ ‹ ¡ÊÃ „Ò¥–”” ©¬ÿÈQ§ ©ŒÊ„⁄UáÊ ŒÃ „È∞ ß‚
∑§ÕŸ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

4

4

4

4
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SECTION - D / πá«U - ÉÊ

24. Read the following passage carefully and answer the questions given below :         4

“Nepal’s transition to democracy is not complete. At the moment, Nepal is
undergoing a unique moment in its history because it is moving towards the
formation of a Constituent Assembly that will write the Constitution for Nepal.
Some sections in Nepal still think that a nominal monarchy is necessary for Nepal
to retain its link with the past. The Maoist groups have agreed to suspend armed
struggle. They want the Constitution to include the radical programmes of social
and economic restructuring. All the parties in the SPA may not agree with this
programme. The Maoist and some other political groups are also deeply suspicious
of the Indian Government and its role in the future of Nepal”.

(i) Why it is said that Nepal is undergoing a unique moment in its history  ?

(a) As it is moving towards the formation of Constituent Assembly that
will write the Constitution.

(b) As it is moving towards uncivilised protests and movement.

(c) Due to nominal monarchy in Nepal.

(d) The Maoist groups have agreed to suspend armed struggle.

(ii) What is the desire of Maoist groups in Nepal  ?

(a) They have agreed to suspend armed struggle.

(b) They want the Constitution to include the radical programmes of social
and economic restructuring.

(c) They were deeply suspicious on the intentions of Indian Government.

(d) Both (a) and (b).

(iii) Why were some Political Parties suspicious  in Nepal  ?

(a) Political groups were deeply suspicious regarding the role of Indian
Government in the future of Nepal.

(b) Because they were suspicious of the democratic set-up.

(c) Because they were suspicious regarding the social restructuring.

(d) All of the above.

(iv) In the above passage SPA stands for __________.

(a) State Party Alliance

(b) Seven Party Alliance

(c) Static Party Alliance

(d) Six Party Alliance
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ÁŸêŸÁ‹ÁπÃ •ŸÈë¿UŒ ∑§Ê äÿÊŸ¬Ífl¸∑§ ¬Á…∏∞ ÃÕÊ ŸËø Á‹π ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞ —

Ÿ¬Ê‹ ◊¥ ‹Ê∑§Ã¥òÊ ∑§Ë •Ê◊Œ •÷Ë ◊È∑§ê◊‹ Ÿ„Ë¥ „Èß¸ „Ò– Á»§‹„Ê‹ Ÿ¬Ê‹ •¬Ÿ ßÁÃ„Ê‚ ∑§ ∞∑§
•ÁmÃËÿ ŒÊÒ⁄U ‚ ªÈ¡⁄U ⁄U„Ê „Ò ÄÿÊ¥Á∑§ fl„Ê° ‚¥ÁflœÊŸ ‚÷Ê ∑§ ª∆UŸ ∑§Ë ÁŒ‡ÊÊ ◊¥ ∑§Œ◊ ©∆UÊ∞ ¡Ê ⁄U„ „Ò¥– ÿ„
‚¥ÁflœÊŸ ‚÷Ê Ÿ¬Ê‹ ∑§Ê ‚¥ÁflœÊŸ Á‹πªË– Ÿ¬Ê‹ ◊¥ ∑È§¿U ‹Êª •’ ÷Ë ◊ÊŸÃ „Ò¥ Á∑§ •‹¥∑§ÊÁ⁄U∑§ •ÕÊZ
◊¥ ⁄UÊ¡Ê ∑§Ê ¬Œ ∑§Êÿ◊ ⁄UπŸÊ ¡M§⁄UË „Ò ÃÊÁ∑§ Ÿ¬Ê‹ •¬Ÿ •ÃËÃ ‚ ¡È«∏Ê ⁄U„– ◊Ê•ÊflÊŒË ‚◊Í„Ê¥ Ÿ ‚‡ÊSòÊ
‚¥ÉÊ·¸ ∑§Ë ⁄UÊ„ ¿UÊ«∏ ŒŸ ∑§Ë ’ÊÃ ◊ÊŸ ‹Ë „Ò– ◊Ê•ÊflÊŒË øÊ„Ã „Ò¥ Á∑§ ‚¥ÁflœÊŸ ◊¥ ◊Í‹ªÊ◊Ë ‚Ê◊ÊÁ¡∑§,
•ÊÁÕ¸∑§ ¬ÈŸ⁄¸UUøŸÊ ∑§ ∑§Êÿ¸∑˝§◊Ê¥ ∑§Ê ‡ÊÊÁ◊‹ Á∑§ÿÊ ¡Ê∞–  ∞‚.¬Ë.∞. ◊¥ ‡ÊÊÁ◊‹ „⁄U∑§ Œ‹ ∑§Ê ÿ„ ’ÊÃ
SflË∑§Ê⁄U „Ê - ∞‚Ê Ÿ„Ë¥ ‹ªÃÊ– ◊Ê•ÊflÊŒË •ÊÒ⁄U ∑È§¿U •ãÿ ⁄UÊ¡ŸËÁÃ∑§ ‚◊Í„ ÷Ê⁄UÃ ∑§Ë ‚⁄U∑§Ê⁄U •ÊÒ⁄U Ÿ¬Ê‹
∑§ ÷Áflcÿ ◊¥ ÷Ê⁄UÃËÿ ‚⁄U∑§Ê⁄U ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ê ‹∑§⁄U ’„ÈÃ •Ê‡Ê¥Á∑§Ã „¥Ò–

(i) ∞‚Ê ÄÿÊ¥ ∑§„Ê ¡ÊÃÊ „Ò Á∑§ Ÿ¬Ê‹ •¬Ÿ ßÁÃ„Ê‚ ∑§ ∞∑§ •ÁmÃËÿ ŒÊÒ⁄U ‚ ªÈ¡⁄U ⁄U„Ê „Ò?

(a) ÄÿÊ¥Á∑§ ÿ„ ‚¥ÁflœÊŸ ‚÷Ê ∑§ ª∆UŸ ∑§Ë •Ê⁄U ◊È«∏ ⁄U„Ê „Ò ¡Ê Á∑§ Ÿ¬Ê‹ ∑§ Á‹∞ ‚¥ÁflœÊŸ
Á‹πªË–

(b) ÄÿÊ¥Á∑§ ÿ„ •‚èÿ ÁflŒ˝Ê„ fl •Ê¥ŒÊ‹Ÿ ∑§Ë •Ê⁄U ◊È«∏ ⁄U„Ê „Ò–

(c) Ÿ¬Ê‹ ◊¥ ŸÊ◊◊ÊòÊ ∑§Ë ⁄UÊ¡‡ÊÊ„Ë ∑§Ë fl¡„ ‚–

(d) ◊Ê•ÊflÊŒË ‚◊Í„Ê¥ Ÿ ‚‡ÊSòÊ ‚¥ÉÊ·¸ ∑§Ê SÕÁªÃ ∑§⁄UŸ ¬⁄U ‚„◊ÁÃ √ÿQ§ ∑§Ë–

(ii) Ÿ¬Ê‹ ◊¥ ◊Ê•ÊflÊŒË ‚◊Í„Ê¥ ∑§Ë ÄÿÊ ßë¿UÊ ÕË?

(a) ©ã„Ê¥Ÿ¥ ‚‡ÊSòÊ ‚¥ÉÊ·¸ ∑§Ê SÕÁªÃ ∑§⁄UŸ ◊¥U ‚„◊ÁÃ √ÿQ§ ∑§Ë–

(b) fl ‚¥ÁflœÊŸ ◊¥ ‚Ê◊ÊÁ¡∑§-•ÊÁÕ¸∑§ ¬ÈŸª¸∆UŸ  ∑§ ◊Í‹ªÊ◊Ë ∑§Êÿ¸∑˝§◊Ê¥ ∑§Ê ‡ÊÊÁ◊‹ ∑§⁄UŸÊ øÊ„Ã
Õ–

(c) fl ÷Ê⁄UÃËÿ ‚⁄U∑§Ê⁄U ∑§ ß⁄UÊŒÊ¥ ¬⁄U ª„⁄UÊß¸ ‚ ‚¥‡Ê¥Á∑§Ã Õ–

(d) (a) fl (b) ŒÊŸÊ¥–

(iii) Ÿ¬Ê‹ ◊¥ ∑È§¿U ⁄UÊ¡ŸËÁÃ∑§ Œ‹ •Ê‡Ê¥Á∑§Ã ÄÿÊ¥ Õ?

(a) Ÿ¬Ê‹ ◊¥ ⁄UÊ¡ŸËÁÃ∑§ Œ‹, Ÿ¬Ê‹ ∑§ ÷Áflcÿ ∑§ ‚¥’¥œ ◊¥ ÷Ê⁄UÃ ‚⁄U∑§Ê⁄U ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ê ‹∑§⁄U
•Ê‡Ê¥Á∑§Ã Õ–

(b) ÄÿÊ¥Á∑§ fl ‹Ê∑§ÃÊ¥ÁòÊ∑§ √ÿflSÕÊ ∑§ ¬˝ÁÃ •Ê‡Ê¥Á∑§Ã Õ–

(c) ÄÿÊ¥Á∑§ fl ‚Ê◊ÊÁ¡∑§ ¬ÈŸª¸∆UŸ ∑§Ê ‹∑§⁄U •Ê‡Ê¥Á∑§Ã Õ–

(d) ©¬ÿÈ¸Q§ ‚÷Ë–

(iv) ©¬ÿÈ¸Q§ •ŸÈë¿UŒ ◊¥ ∞‚.¬Ë.∞. ∑§Ê •Õ¸ „Ò __________–

(a) ⁄UÊ¡∑§Ëÿ Œ‹ ª∆U’¥œŸ

(b) ‚ÊÃ Œ‹Ëÿ ª∆U’¥œŸ

(c) S≈UÁ≈U∑§ ¬Ê≈UË¸ ª∆U’¥œŸ

(d) ¿U— Œ‹Ëÿ ª∆U’¥œŸ
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25. In the given outline political map of India, four states have been marked as (A),
(B), (C) and (D). Identify these states on the basis of the information given below
and write their correct names in your answer book along with their respective
serial number of the information used and the concerned alphabets as per format
that follows :
(i) The state related to the leader who signed Tashkent Agreement.
(ii) The state where First Nuclear explosion was undertaken by India in May

1974.
(iii) The state infiltrated by China in 1962 war.
(iv) The state was granted statehood in 1960’s.

Sr. No. of the 

information used

Concerned Alphabet 

in the Map
Name of the State

(i)

(ii)

(iii)

(iv)

4
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Note : Following questions are for the Visually impaired candidates in lieu of question
no. 25.

(i) India conducted its I and II nuclear tests at Pokhran in the year __________
and _________.

(ii) Where did Pakistan conduct its nuclear tests ?

(iii) Write the full form of CTBT.

(iv) Name the Tibetan Spiritual leader who crossed over to India for Political
asylum.

ŸËø ÁŒ∞ ª∞ ÷Ê⁄UÃ ∑§ ⁄UÊ¡ŸËÁÃ∑§ ◊ÊŸÁøòÊ ◊¥ øÊ⁄U ⁄UÊíÿÊ¥ ∑§Ê ∑˝§◊‡Ê— A, B, C, D ‚ •¥Á∑§Ã Á∑§ÿÊ ªÿÊ
„Ò– ŒË ªß¸ ¡ÊŸ∑§Ê⁄UË ∑§ •ÊœÊ⁄U ¬⁄U ⁄UÊíÿÊ¥ ∑§Ë ¬„øÊŸ ∑§ËÁ¡∞ ÃÕÊ •¬ŸË ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ◊¥ ∑˝§◊ ‚¥ÅÿÊ ∑§
•ŸÈ‚Ê⁄U •¥ª˝¡Ë fláÊ¸ ÃÕÊ ⁄UÊíÿÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞–

(i) ÃÊ‡Ê∑¥§Œ ‚◊¤ÊÊÒÃ ¬⁄U „SÃÊˇÊ⁄U ∑§⁄UŸ flÊ‹ ŸÃÊ ‚ ‚ê’h ⁄UÊíÿ–

(ii) fl„ ⁄UÊíÿ ¡„Ê° ÷Ê⁄UÃ Ÿ ◊ß¸ 1974 ◊¥ ¬˝Õ◊ ¬⁄U◊ÊáÊÈ ¬⁄UËˇÊáÊ Á∑§ÿÊ–

(iii) fl„ ⁄UÊíÿ Á¡‚ ¬⁄U 1962 ∑§ ÿÈh ◊¥ øËŸ mÊ⁄UÊ •Ê∑˝§◊áÊ Á∑§ÿÊ ªÿÊ–

(iv) fl„ ⁄UÊíÿ Á¡‚ 1960 ∑§ Œ‡Ê∑§ ◊¥ ⁄UÊíÿ ∑§Ê Œ¡Ê¸ Á◊‹Ê–

ŒË ªß̧ ¡ÊŸ∑§Ê⁄UË ∑§Ë ∑§̋◊ 

‚¥ïÿÊ

‚¥’¥ÁœÃ •¥ª̋¡Ë fláÊ◊̧Ê‹Ê ∑§ 

•ˇÊ⁄U
⁄Êíÿ ∑§ ŸÊ◊

(i)

(ii)

(iii)

(iv)

‚¥ÅÿÊ
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ŸÊ≈U — ÁŸêŸÁ‹ÁπÃ ¬˝‡Ÿ ≤Ác≈U’ÊÁœÃ ÁfllÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ¬˝‡Ÿ ‚¥ÅÿÊ 25 ∑§ SÕÊŸ ¬⁄U „Ò-

(i) ÷Ê⁄UÃ Ÿ •¬Ÿ I •ÊÒ⁄U  II  ¬⁄U◊ÊáÊÈ ¬⁄UËˇÊáÊ ¬Êπ⁄UŸ ◊¥ fl·¸        •ÊÒ⁄U       ◊¥ ‚¥¬ÛÊ Á∑§∞–

(ii) ¬ÊÁ∑§SÃÊŸ Ÿ •¬ŸÊ ¬⁄U◊ÊáÊÈ ¬⁄UËˇÊáÊ ∑§„Ê° Á∑§ÿÊ?

(iii) ‚Ë. ≈UË. ’Ë. ≈UË. ∑§Ê ¬ÍáÊ¸ M§¬ Á‹Áπ∞–

(iv) ÁÃé’Ã ∑§ œÊÁ◊¸∑§ ŸÃÊ ∑§Ê ŸÊ◊ ’ÃÊß∞ Á¡ã„Ê¥Ÿ¥ ÷Ê⁄UÃ ◊¥ ¬˝fl‡Ê Á∑§ÿÊ (‡Ê⁄UáÊ ‹Ë)–
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26. Study the given cartoon carefully and answer the questions that follow : 4

(i) What does the cartoon represent ? 1

(ii) Which countries are being shown here ? 1

(iii) What message does this cartoon convey ? 2

Note : Following questions are for the Visually impaired candidates in lieu of
question number 26.

(i) Where was the Earth summit held ?

(ii) Expand UNFCCC.

(iii) Write one example of global commons.

(iv) What is Agenda 21 ?

4
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ŸËø ÁŒ∞ ªÿ ∑§Ê≈Í¸UŸ ÁøòÊ ∑§Ê •fl‹Ê∑§Ÿ ∑§ËÁ¡∞ ÃÕÊ ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞ —

(i) ∑§Ê≈Í¸UŸ ◊¥ ÄÿÊ Œ‡ÊÊ¸ÿÊ ªÿÊ „Ò?
(ii) ß‚◊¥ ∑§ÊÒŸ ‚ Œ‡ÊÊ¥ ∑§Ê ÁŒπÊÿÊ ªÿÊ „Ò?
(iii) ß‚ ∑§Ê≈Í¸UŸ ◊¥ ÄÿÊ ‚¥Œ‡Ê ÁŒÿÊ ªÿÊ „Ò?
ŸÊ≈ U— ÁŸêŸÁ‹ÁπÃ ¬˝‡Ÿ ≤Ác≈U’ÊÁœÃ ÁfllÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ¬˝‡Ÿ ‚¥ÅÿÊ 26 ∑§ SÕÊŸ ¬⁄U „Ò-
(i) ¬ÎâflË ‚ê◊‹Ÿ ∑§„Ê° „È•Ê ÕÊ?
(ii) ÿÍ.∞Ÿ.∞»§.‚Ë.‚Ë.‚Ë. ∑§Ê ÁflSÃÎÃ M§¬ Á‹Áπ∞–
(iii) flÒÁ‡fl∑§ ‚Ê¤ÊÊ ‚¥¬ÁûÊ (Ç‹Ê’‹ ∑§ÊÚ◊Ÿ) ∑§Ê ∞∑§ ©ŒÊ„⁄UáÊ Á‹Áπ∞–
(iv) ∞¡¥«UÊ - 21 ÄÿÊ „Ò?

SECTION - E / πá«U - æ§

27. Compare the European Union with ASEAN.       6

OR

Highlight any three steps taken by China to improve its economy.

ÿÍ⁄UÊ¬Ëÿ ‚¥ÉÊ •ÊÒ⁄U •ÊÁ‚ÿÊŸ ∑§Ë ÃÈ‹ŸÊ ∑§ËÁ¡∞–
ÿÊ

øËŸ mÊ⁄UÊ •¬ŸË •Õ¸√ÿflSÕÊ ∑§ ‚ÈœÊ⁄U ∑§ Á‹∞ ©∆UÊ∞ ª∞ Á∑§ã„Ë¥ ÃËŸ ∑§Œ◊Ê¥ ¬⁄U ¬˝∑§Ê‡Ê «UÊÁ‹∞–
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28. Mention three complaints related to the UN Security Council were reflected in
the resolution passed by the UN General Assembly in 1992. Examine any three
criteria that have been proposed for new permanent members of the Security
Council.

OR

Describe the composition of the UN Security Council. Justify your answer
regarding the major differences in the privileges given to its permanent and
non-permanent members.

‚¥ÿÈÄàÊ ⁄UÊC˛ ‚È⁄UˇÊÊ ¬Á⁄U·Œ˜ ∑§ ‚¥’¥œ ◊¥  1992 ◊¥ ‚¥ÿÈQ§ ⁄UÊC˛ ◊„Ê‚÷Ê mÊ⁄UÊ ¬ÊÁ⁄UÃ ¬˝SÃÊfl ◊¥ √ÿQ§ ∑§Ë ªß¸
ÃËŸ Á‡Ê∑§ÊÿÃ¥ ’ÃÊß∞– ‚È⁄UˇÊÊ ¬Á⁄U·Œ˜ ∑§ Ÿ∞ SÕÊÿË ‚ŒSÿÊ¥ ∑§ Á‹∞ ¬˝SÃÊÁflÃ Á∑§ã„Ë¥ ÃËŸ ◊ÊŸŒ¥«UÊ¥ ∑§Ê
¬⁄UËˇÊáÊ ∑§ËÁ¡∞–

ÿÊ

‚¥ÿÈÄàÊ ⁄UÊC˛ ‚È⁄UˇÊÊ ¬Á⁄U·Œ˜ ∑§ ª∆UŸ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞– ß‚∑§ SÕÊÿË fl •SÕÊÿË ‚ŒSÿÊ¥ ∑§Ê ÁŒ∞ ª∞
Áfl‡Ê·ÊÁœ∑§Ê⁄UÊ¥ ◊¥ ◊ÈÅÿ •¥Ã⁄U ¬⁄U •¬Ÿ ©ûÊ⁄U ∑§Ê •ÊÒÁøàÿ Á‚h ∑§ËÁ¡∞–

29. Analyse any six consequences of Partition of India.       6

OR

Analyse three challenges of Nation - Building of India.

÷Ê⁄UÃ ∑§ Áfl÷Ê¡Ÿ ∑§ Á∑§ã„Ë¥ ¿U— ¬Á⁄UáÊÊ◊Ê¥ ∑§Ê Áfl‡‹·áÊ ∑§ËÁ¡∞–

ÿÊ

÷Ê⁄UÃ ∑§ ⁄UÊC˛-ÁŸ◊Ê¸áÊ ◊¥ •ÊßZ ÃËŸ øÈŸÊÒÁÃÿÊ¥ ∑§Ê Áfl‡‹·áÊ ∑§ËÁ¡∞–

30. “The regional parties have started playing an important role in the Indian
politics”.  Comment.

OR

Highlight any three major developments in Indian Politics since 1989.

““ˇÊòÊËÿ Œ‹Ê¥ Ÿ ÷Ê⁄UÃËÿ ⁄UÊ¡ŸËÁÃ ◊¥ ◊ÈÅÿ ÷ÍÁ◊∑§Ê ÁŸ÷ÊŸË ‡ÊÈM§ ∑§⁄U ŒË „Ò””–  Á≈Uå¬áÊË ∑§ËÁ¡∞–

ÿÊ

fl·¸ 1989 ‚ ÷Ê⁄UÃËÿ ⁄UÊ¡ŸËÁÃ ◊¥ •Ê∞ Á∑§ã„Ë¥ ÃËŸ ◊ÈÅÿ Áfl∑§Ê‚ (’Œ‹Êfl) ¬⁄U ¬˝∑§Ê‡Ê «UÁ‹∞–

- o O o -
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